Catching Up	


Use a graphing calculator or graphing software on a computer to do this problem.


The function 





�EMBED Equation.3���


describes the position of a runner who, when we start looking is ahead of the starting line. Distance is measured from the starting line and we start looking at t = 0.


How fast is this runner moving?


How far ahead of the starting line is the runner when we start looking?


Another runner's position is given by the function





�EMBED Equation.3���


What has to be true about the values of a and b if the second runner crosses the starting line at the instant we start looking. and catches the first one at some later time?
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